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SECTION-1: CHILD PSYCHOLOGY & DEVELOPMENT PEDAGOGY,

TEACHING LEARNING PROCESS
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 (B) Use

To identify the learning-disabled
children, the teacher can use
which of the following technique?

{A) Observation
(B) Diagnostic tests
(C) Interview

(D) All of the above.

Which law of learning is indicative
of learner’s state to participate in

oy

(C) Law fo multiple responses

}h an of exercise

(D) Law of readiness.

To enhance creativity among
students, teacher should :

(A) Discourage student’s freedom
to respond

brajnstnrming
technique

(C) Promote hesitation and fear
among students

(D) All of the above.
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q.

Reward 18 an exampla

(A) Extrinsic motivation
(B) Intrinsic motivation
(C) Primary motivation

(D) None of the above.

Which of the following is NOT

included in the

process of

Memorisation?

(A) Reeall

(B) Retention

(€C) Reconstruction

(D) Learning.

the science of

The term

Psychology is
Human behaviour.,

behaviour includes :
(A) Conative activities
(B) Cognitive activities

(C) Affective activities

(D) All of the above.
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In which method the mental
disorders of an individual are

studied?

(A) Experimental method
(B) Clinical method

(C) Introspection method

(D) Questionnaire method.

Which branch of psychology
deseribes the processes of growth

and development?

(A) Child Psychology

(B) Develepmental Psychology
(C) Physiological Psychology
(D) All of the above.

Which of the following is
NOT true about Educational
psychology?

(A) Educational psychology
helps to study learners’
behaviour,

(B) Educational psychology
helps to improve family
environment,

(C) Educational psychology
helps to arrange proper

learning situations,

(D) Educational psychology helps

in_ selecting appropriate
evaluation techniques,

«. BT.O.
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10. Who is the Propoun g,

12.

structuralism?

(A) Wilhelm Wundt
(B) William James
(C) J. B. Watson

(D) Sigmund Freud.

................... represents the mopg)

aspect of psyche.
(A) Id

(B) Ego

(C) Super ego

(D) None of the above,

According to Piaé;et., during
which stage the child starts

thinking in abstract form?

(A) Sensory-motor stage

(B) Pre-operational stage

(C) Concrete-operational stage

(D) Formal-operational stage.
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Differonces in reasoning, power of
imagination and creative expression
are the examples of which type of
individual differences?

(A) Physical differences
(B) Mental differences
(C) Learning differences
(D) None of the above.

Which of the following statement is
NOT true about Human growth?

(A) Growth is limited to physical
growth only.

(B) Growth is life-long process.

(C) Growth is a sub-gsystem of
development.

(D) Growth is only quantitative.

If a person has some potential
ability in a specialised kind of
activity, it is known as ;

(A) Aptitude
(B) Intelligence
(C) Creativity
(D) Interest.

P.T.0.
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A

Which of  the following
intelligence test is meant for.
measuring intelligence of one
individual at a time? '

4

(A) Individual Verbal Test

(B) Individual Performance Test
(C) Both of the above

(D) None of the above.

Which of the following kind of
thinking is associated with one's

ability to consfruct something
new?

(A) Concrete Thinking

(B) Abstract Thinking
(C) Logical Thinking
(D) Creative Thinking.

v, finds it diffieult to
keep pace with the normal school
work.

(A) Gifted child
(B) Delinquent child
(C) Backward child

(D) None of the above.
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Which of the following is the

first stage of psycho-social
development as descri bed by
Erickson?

(A) Autonomy vs Shame
(B) Trust vs Mistrust
(C) Initiative vs Guilt

(D) Identity vs Role confusion.

For which of the following activity
the knowledge of individual
differences is not required for a

teacher?

(A) Select an
teaching method.

applropriale

(B) Prepare question paper.
(C) Assign activities to students.

(D) Plan professional development

activities.

Which of the following is NOT
and external factor influencing
Human growth and development?

(A) Mental health of mother
during pregnancy.
(B) Quality of physical environment.

(C) Level of Intelligence of the
child.

(D) Availability of medical care
and nourishment,

PT.O.
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To identify the gifted children,
the teacher can use which of the

following techni'que?
(A) Opinion and

friends

of parents

(B) Interview
(C) Intelligence test

(D) All of the above.

Who “The
acquiring new knowledge and

says, process of

new responses is the process of
learning”™?

(A) Hilgard
(B) Crow and Crow
(C) Woodworth

(D) Skinner.

Which of the following is NOT
included in the scope  of
Educational psychology?

(A) Characteristics of learner

(B) Intelligence and its
measurement,

(C) Technological aspects of
education.

(D) All of the above.
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Which of the following statement
is NOT true about creativity?

(A) Creativity is universal.

(B) Creativity

something novel.

produces

(C) There is positive correlation

between  creativity and

intelligence.

(D) None of the above.

Learning brings change in the
behavior_uf:-pf: .................. .

(A) A student
(B) All human beings
(C) Every organism

(D) fﬂone of the above.

All human beings are mortal;
Karan is a human being, Karan is

mortal. It is an example of :
(A) Inductive reasoning
(B) Deductive reasoning
(C) Simple reasoning

(D) None of the above.
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If a student tries to solve g
problem systematically and by
following some planned steps, he

1S using :

(A) Trial and Error approach.
(B) Problem solving approach.
(C) Project method

(D) All of the above.

If the learning in one situation
proves helpful in the learning in

another situation, it is called :

(A) Positive transfer of learning.
(B) Negative transfer of learning.

(C) Zero transfer of learning,

(D) None of the ahove.

Who among the following is NOT
a behaviourist?

(A) J.B. Watson
(B) Pavlov
(C) Skinner

(D) William James.
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By whom was the Rang Mahal
constructed at a place called
Bilaspur in Himachal Pradesh?

(A) Vijay Chand °
(B) Kalyan Chand
(C) Jasta Burman

(D)} Lalit Burman.

Wha was the ruler of Hindur
(Nalagarh) at the time of Timur's

invasion?

(A) AmarSingh
(B) Amar Chand
(C) Ram Chand

(D) Kchar Chand,

Which was the last Pahadi State
among the hill States to lose ity
Independence?

(A} Kangra
(B) Kullu
(C) Kulind

(D) Trigarta.

. P.T.0.
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state?

(A) Beza
(B) Mehlog ;
(C) Mangal

(D) Dhami.

By what other name is Pubbar
Valley of Himachal Pradesh is

known?

(A) Rohru

(B) Bagi
(C) Setu

(D) Semu.

What is the Constitutional name

of National flag?
(A) Tricolor

(B)- National flag
(C) Dizzy flag

(D) None of these.
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37.

38,

39.

Which of the following Country

has been called the home of Direct

Democracy?

(A) Switzerland
(B) America
(C) India

(D) England.

In  which

Constitution is mentioned of the

article of the

Election Commission?
(A) 324
(B) 352
(C) 376

(D) 370.

What is the impact of development

on environment?

(A) Negative

(B) Positive

(C) Both (A) and (B)

(D) None of these.

P'T.0.



A0, Towa sdorgea o snfen &) feah 40.  What is the America’s share in

faafy 27 World ceonomy?
(A) 28% (A) 28%
(B) 25% (13) 26%
(C) 20% () 200
(D) 15% (D) 16%.

A fem m wem fawin wga @@ | 41, Where was the World's fi

wen oy Business school opened?
(A) W (A) India

(B) il (B) China

(C) amfim (C) Ameriea

(D) sy (D) Japan.

42.  fewa @f ten fea 9 29 & 42.

Hindon  square’ line 18t

e ) boundary line of which tw
countrios?

(A) ot s qide
(A) Germany and Poland

(B) v sl i
(B) Indo-China

(©) ¥y sit uidky (C) England-Poland

(D) w4 w1 1) (D) None of those .

N-2415-Series-B (16)




43 TuW EATgs e e w2l | 43, Where was the first non-aligned

IR e P summit held?
(A) =ifsa (A) Tokyo
(B) =141 (B) Ghana
(C) ==z (C) Belgrade
(D) =Em) (D) Angola.

<4 'Hﬁ—?&ﬁ' Ye® F OEF F19 | 44,  Who is the author of the Book

€2 | “Aadhe-Adhure’?

(A) 9iE3 w9 (A) Mohan Rakesh
(B) FIera™ (B) Kalidas

(C) qergrars (C) Tulsidas

(D) TSE WHE (D) Rajendra Prasad.

45. =g ¥ fFm afdws § ‘pimww’ | 450 In which session did the Congress
= W T set the goal of complete
Independence?
(A) 1929 ¥ TR (A) Lahore in 1929 A D.
(B) 1931 5. =UHl (B) Karachi in 1931 A.D.
(C) 1936 3. T&ETH (C) Lucknow in 1936 A.D.
(D) 1937 % HA (D) Faizpur in 1937 A.D.

N-2415-Series-B (17) PT.0
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Who was the First President of all
India Kisan Sabha?

(A) N.G. Ranga
(B) Sh. Krishan Singh
(C) Swami Sahajanand Saraswati

(D) Baba Ram Chandra.

Where did the Sepoy Mutiny of
10 May 1857 A.D. ?

(A) Barrackpore
(B) Delhi
(C) Merath

(D) Agra.

When was the Muslim League
established?

(A) 1905 A.D,
(B) 1906 A.D.

(C) 1907 A.D.

(D) 1909 A.D.
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Who presided over the 1929 A.D.

session of Congress?

(A) Motilal Nehru

(B) Jawaharlal Nehru

(C) Sardar Vallabhbhai Patel

(D) Subhash Chandra Bose.

In which state Panchayati Raj was

first established in India?
(A) Bihar

(B) Rajasthan

(C) Maharashtra

(D) Gujarat.

In which district of Himachal
Pradesh is the pass named Laluji
located?

(A) Lahaul-Spiti
(B) Kullu

(C) Kangra

(D) Chamba. |

P.T.0,
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From which hill does Giri River

originate?

(A) Kuppar Hill
(B) Jakhu Peak
(C) Theog Dhar

(D) Dodra Kwar Dhar.

With which lake is the name of

Padam Sambhava Assaciated?
(A) Khajjiar
\B) Parashar
(C) Rewalsar

(D) Dal.

In which district of Himachal
Pradesh Uranium deposits have
been detected?

(A) Hamirpur
(B) Una
(C) Kangra

(D) Kullu,
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Where is Mohana a famous folk

song?

(A) Sirmaur
(B) Una
(C) Kangra

(D) Bilaspur.

Where is Bhuri Singh Museum

located?

(A) Kangra
(B) Kullu
(C) Chamba

(D) Solan.

By what name Kangra was known

in ancient times?
(A) Nagarkot
(B) Kilar

(C) Jalandhar

(D) Kauravpur.

PT.0,



8. wvel @ faseifen fast f&w @ | 58,  In which year the Victoria Brig

T T o9r? of Mandi was built?
(A) 1877 3. (A) In 1877 A.D.
(B) 1820 % (B) In 1820 A.D.
(C) 1920 . # (C) In 1920 A.D.
(D) 1887 3. H (D) In 1887 A.D.

59. Tewrae w39 #1 F=1 S WeT | 59.  Which is the biggest industrial cif

-7 82 of Himachal Pradesh?
(A) Hier (A) Solan

(B) fermen (B) Shimla

(C) fawil (C) Sirmour

(D) Hugh (D) Mandi.

60. ®= f&9 fadl +1 @iw 33 | 4. Chhamb is the folk dance of which

22 district?

(A) dier (A) Solan

(B) feH=ir (B) Kinnaur
(C) @ wify (C) Lahaul spiti
(D) v (D) Chamba.

N-2415-Series-B (22)



ipection Q. Nos, 61 & 62 : Choose
¢ correct alternative to complete
he idiom :
1. Asinnocentasa............... i
(A) Dove
(B) Sheep
(C) Duck 64.
(D) Doe.
Asproud as a ........... !
x'."l.,{
(A) Gander p ) A
. B ~—*::: :j.,;lf & o I;.E:",:_ﬁ
S INY
LAAEVR o\ v
J'all_‘f' -.-{_ \I.l._ _;..! ="
(C) Parrot ‘m, "\ 65.
(D) Peacock.
Direction Q. Nos. 63 to 67 : Choose
the correct form of indirect speech :
63.  “Are you a vegetarian” he said to
her:
(A) He asked her whether she was
a Vegetarian.
N-2415.Series-B (23)

(A)

SECTION-III : ENGLISH

(B) He asked her if she was a
vegetarian,

(C) He told her whether she is a
vegetarian.

(D) He asked her whether she is a

vegetarian.

He said to me, “Are you not afraid”.
(A) He asked me if I was not

afraid. #ﬁ T ) |
QBQN I*hgmd if l'w.ras afrald

.n L ‘_5‘ =

@} He ask(.d me was [ afraid.

(D) None of these.

She said to her friend, “Will you
help me"?

She inquired her friend to help
her.

(B) She asked her friend if she

would help her.

(C) Her friend was asked to help

her.

(D) None of these.

P.T.0,



66. Radha says, “It is
heavily.”

raining
(A) Radha was telling it rained

heavily.

(B) Radha says that it is raining
heavily,

(©) Radha savs it is heavy
downpour of rainfall,

(D) None of these,

67.  He said to the driver, “Be quick”.

(AJ i'ie ordered the driver to be
4 quick.

(B) The driver was ordered to be
quick.
(C) H-tnldthldﬁvurtubequick_

(D) None of these.

Direction Q. Nos. 68 to 70 Re-
arrange the following four
nnmnﬂ-ql.{ﬁ.(ﬂﬂlnd[ivlhlﬂm
proper sequence of form g

mim“mtmum h

answer:

N-2415-Series-B

69.

(24)

(1) He should list all the caugge,
(il) Then implement it

(iil) After pin pointing he shoyle
consult others.

() The manager should identify
the problem

(A) = )u-dy
(B (id=tanb—lav 44}
(C} GGl
(DY (i L= 1)

(i) So services formulated gnd
carried out the policy

Y Now the

formulated by the Ministers

policies are

(iii) The administration and
Government were oot
different.

(iv) In the past it worked unde
authoritarinnism.

(A (ivddid—GiidGii)

Y (iv)dhiiD i)

(©) Giv)~Giii-)

(5] (=~ iiiv),



70.

(i) That technique brought
success.

(i1) We championed the cause of
other countries.

(1) We fought it with a special
technique.

(iv) We are happy that they
achieved freedom.

(A) Gii—G-Gi)iv)
(B) (1)—(1i)—(iv)—Giii)
(C) Gv)—1)—()Giii)
(D) @-Qi)ii)—iv).

Direction Q. Nos. 71 to 74 : Choose
the best alternative to complete the
sentences given below :

71.

72.

N-2415.Series-B

Please tell me :

(A) Where is the bus stop
(B) Where the bus stop be
(C) Where stops the bus
(D) Where the bus stop is.

She said :

(A) That she was hungry
(B) She hungry

(C) She be hungry

(D) Her was hungry.

73.

74.

I didn’t know :

(A) What he mean

(B) What did he mean
(C) What did he meant
(D) What he meant.

I told him :
(A) What the Homework was
(B) What was the Homework

(C) What was to be the
Homework

AD) Whatis the Homework.

Direction Q. Nos. 75 to 78 : Give one
word for the following expression,
choosing from those given under
each expression :

75.

76.

(25)

Work inscribed on the tomb.
(A) Eulogy

(B) Epitaph

(C) Epigraph

(D) Eloquence.

An office with no work, but high
pay.

(A) Honorary

(B) Sinecure

(C) Ex-officio

(D) Reticent.

P.T.O.



7.

8.

79,

80.

N-2415-Series-B

Very vigilant and cautious.
(A) Meticulous

(B) Fastidious

(C) Anxious -

(D) Alert,

A small shop that sells fashionable

clothes, cosmetics, ete,
(A) Store.

(B) Stall

(C) Boutique

(D) Booth,

The correct Masculine gender
for :

What is the Masculine of Chicken?
(A) rooster

(B). hen
(C) bull

(D) goose,

What is the Masculine of

goose?
(A) drake

(B) bull

81,

82.

83.

(26)

(C) gander

(D) goose.

What is the Masculine of Ny, »
(A) monk
(B) queen
(C) spinster

(D) doe.

Masculine gender of Mayoress :
(A) Mayors

(B) Mayoree

(C) Mayor

(D) Mayoress.

Feminine gﬁnder of colt.

(A) Penguin

(B) Cuckoo

(C) Duck

(D) Filly.



4.

The correct feminine gender of

Ram,

(A) Ewe .
(B) Limb
(C) Lob

(D) Lumber,

Direction Q. Nos. 85 to 90 : Choose

the correct prapositim_m to complete

the sentences given below :

85.

86.

N-2415-Series-B

The poor have to work hpexams

morning to evening,

(A) in

(B) to

(C) from

(D) bef;:ire.

Neverlaugh.............. the disabled.
(IA) on .

(B) from

(C) to

(D) at.

87.

89.

90,

(27)

He spoke ......cc...... the subject for

two hours regularly.
(A) in

(B): on

(C) of

(D) with.

Listen .............. what your teachers

say.
(A) at
(B) in
(C) to
(D) for.

Wegetrains .......... July every year,
(A) for
(B) to
(C) on
(D) in,

We have a very good news
him,

(A) for
(B) of
(C) to
(D) with,

..........

PTO,



91.

92.

93.

N-2415-Series-B

SECTION-IV : SOCIAL STUDIES

T a1 & fag fea a@l
HEaEEm 22

(A) =1
(B) 4ig

(C) =

D) =

‘gifafess’ (Politics) ¥ = Tam
g8 wed Ry fagm 3 fem op

(A) w3
(B) g+t

(C) 31T/
(D) HfFarEef)

91.

92.

93.

(28)

< :{B} Two

How many elements are requireq

to form a state?
(A) Four
(B) Five
(C) Three

(D) Two.

How of Citizenship
a ere?
% ?

(C) Three
(D) None of these.

Which scholar first used the

- Word Politics’?

(A) Plato
(B) Socrates
(C) Aristotle

(D) Machiavelli.



Y 15-Series-B

(A) 29 T
(B) 27 T4
(C) 28 TH

(D) 30 ==

Y %1 999 WrdE 99dq &1 AH

27

Ay FZO HYEdl
By afrw werm
C) =5 wegar

D) TE wegmE

94,

95.

96.

(29)

What is the 73rd Constitutional

Amendment related to ?
(A) Panchayati Raj

(B) Municipality

(C) Municipal Corporation

(D) Legislative Council.

How many States are there in
India at Present?

(A) 29 States
(B) 27 States
(C) 28 States

(D) 30 States.

What is the name of Indian oldest
civilization?

(A) Harappan civilization

(B) Vedic civilization

(C) Maurya civilization

(D) Gupta civilization.

P.T.O.



97,

98.

99.

N-2415-Series-B

rEw peE W @e F T
wt?

(A) 1921 §

(B) 1922 € #

(C) 1923 4 o

(D) 1920 3. I

T W W owR T
®T

(A) e
(B) wdaxs

(C) d5ma Wi
(D) fafean

22

(A) Sl diu, fay
(B) ®HaTw
(C) wET=
(D) 3MLHI. AR

97.

98.

When was

the Har amn

civilization discovered?
(A) In 1921 AD.
(B) In 1922 A.D.
(C) In 1923 A.D.

(D) In 1920 A.D.

Who was the greatest ruler of the

Mauryan Empire?
(A) Ashoka
(B) Harshvardhan

(C) Chandragupta Maurya

(D) Bimb'isam

99.

(30)

Who s

called the Indian

Napoleon? °
(A) Dr. V.A. Smith

(B) Samudragupta

(C) Chandragupta

(D) R.C. Majumdar.,



100.

101.

102.

N‘2415-Surie5-}3

WE I W TR W ey
fafu TU FW B2

(A) WIEg

(B) He19™

(C) FTag

(D) FH | FE T

e @ SER faaw fee e
(A)
(B) Wi

(C) 38

(D) =m

TR w1 4§ e TIE WOEs

1
(A) 3ZT%
(B) HEAH

(C) Hymeit

(D) TR

100. What is the most important

101.

102.

(31)

Religious Sutra/Legal Text of

early India 7

(A) Manusmriti
(B) Mahabharata
(C) Rigveda

(D) None of these.

How many types of Marriages are

there according to Manusmriti?
(A) Two

(B) Five

(C) Eight

(D) Four.

At which place did the War of

Mahabharata take place?
(A) Indraprastha

(B) Kurukshetra

(C) Vaishali

(D) Rajgriha,

P.T.0.



103.

104.

"~ 105.

/(C) 527 ¥y,

(A) §d FHL

(C) WeTH T g5

oy wel fed &7
(A) 79T

(B) TRmang

(C) feweh

(D) i

WM WEER Rl S H9 g2 417 | 104

(A) 566 .1,

(B) 599 %1,

(D) 572 3.4,

“TOR et w1 W 2?7 4w | 105

frg w8 A2

(B}mrﬁ&ﬁ"

(D) WeER A

N-2415-Series-B . _ (32)

103. Where is Sanchi Stupa Iﬂﬂﬂteﬁ?:

(A) Bhopal
(B) Aurangabad
(C) Delhi

(D) Agra.

When was Lord Mahavir born?

(A) 566 B.C.

(B) 599 B.C.
(C) 527 B.C.

(D) 572 B.C.

“The World is a house of sorrow”

who said these words?

" (A) Saint Kabir

(B) Mahatma Gandhi

(C) Mahatma Buddha

(D) Mahavir Jain,



(1s “ﬂj | JH e o o 1071
1006. d " e u Y Eam e 106. Who started the religion of Islam
EF,

. in India?
(A) Fems-fas-mimy ’ (A) Muhammad Bin Qasim
(B) o=z M : (B) Muhammad Ghori
(C) &9 =g (C) Hazrat Muhammad
(D) 377 T | (D) Abu Bakr.

107. ®URE HFAT w1 TEHEN FET | 107. Which one was not a capital of

4?2 : Akbar?
(A) Fﬁ?cﬁ? (A) Lahore
(B) T ' (B) Multan
(C) fewedt (C) Delhi
(D) waeq Hiwd| (D) Fatehpur sikri,

08, wed fe@ TE W 92 108. Who was the first Sikh guru?
(A) 4t % AR &4 Sl ‘ (A) Sh. Guru Nanak Dev Ji
(B) #1 & 2T 39 (B) Sh. Guru Arjan Dev Ji
(C) 41«7 H8TgL i | (C) Sh. Tegh Bahadur Ji
(D) #i % mfag ﬁﬁr il ‘ (D) Sh. Guru Gobind Singh Ji,

N-2415-Scries-B (33) PT.0.



109,

110.

111

N-2415-Series-B

W W e gy @ WedTE wE | 109,
12
(A) Toeg
(B) 3w
(C) 3iTeE
(D) =raT)
FHat | el W owa maa | 110.
fmar ui?
(A) 1563 4 o
(B) 1564 3. W
(C) 1565 3. W
(D) 1569 3. Hi
A W1 WYH @agal 09 &9 g3 | 111
oqr?
(A) 15 @ 1857 3.
(B) 31 =¥ 1857 X
(C) 10 v 1857 %
(D) 1.0 7 1857 %
(34)

Who was the founder of the
Mughal dynasty in India?

(A) Humayun

(B) Akbar

(C) Aurangzeb

(D) Babar.

When did Akbar abolished

Pilgrimage Tax?
(A) In 1563 A.D.
(B) In 1564 A.D.
(C) In 1565 A.D.

(D) In 1569 A.D.

When did India’s first war of

Independence take place?
(A) 15 May 1857 A.D,
(B) 31 May 1857 A.D.
(C) 10 May 1857 A.D.

(D) 10 June 1857 A.D.



114,

fava o anfépg S
eft ?

(A) 1923 €. o
(B) 1929 3. #®
(C) 1930 ¥. ®

(D) 1932 3. +

IRA FI UEAW & W R?

(A) sfusht
B) fet
(C) fegwrit
(D) ¥ A FE T
et Farelt A 27
A) 2 e a4 7o

B) 4 7@ 60 Fg T T

©) 3 sa 30 wUE T T

(D) T @ T

N—Mlﬁ-Seﬁe's-B

112

(35)

113.

114.

When did the great depression

start in the World?

(A) In 1923 A.D.

 (B) In 1929 AD.

(C) In 1930 A.D.

(D) In 1932 A.D.

Which is the National Language

of India?

(A) English
(B) Hindi

(C) Hindustani

(D) None of these.

How old is the Earth?

(A) Two billion years ago

(B) Four billion sixty crore ago
(C) Three billion thirty crore ago

(D) None of these.

P.T.O.



* F i rin?
115, el <ftas =1 FIREEIGH Fo] ¥ Tl 115. Where did Urban Life begin?

b (A) Mesopotamia
(A) TrEmarefom
) (B) Rome
(B) W
(C) France
(C) wid
(D) el (D) London.

116. f&@ TR H (97 WU=a T 529 | -116. Which sea is called the heart of

FEl W €7 the Roman Empire?

(A) Tfema T (A) Aegean Sea

(B) €l ¥ (B) Red Sea

(C) 37gifad | (C) Ayoniyan Sea-

(D) A Wl : (D) Mediterranean Sea.

[17. @R e &1 99 Fd TN | 117. When was the  Prophet

o1 ? Muhammad born?
(A) 510 3. H (A) In510A.D.
(B) 530 4. # (B) In 530 A.D.
(C) 560 §. H (C) In 560 A.D.
(D) 570 3. # | (D) In570 A.D.

N-2415-Series-B - (36)



118 Bl m:hlz q B3 y1?

(A) 1096 3. «
(B) 1097 3, «
(C) 1098 3, +

(D) 1099 2. )

119. A wEl & frEnn 92
(A) 5 ufyrnm =
(B) [H¥ HIM =&
(C) g1 &

(D) =19 I

120, ‘wreiag’ fEg W ® HatHg o1

(A) qaTe

(B) w19

(C) get
(D) st

- N-2415.Series-B

(37)

119.

120.

place?

(A) In 1096 A.D.
(B) In 1097 A.D.
(C) In 1098 A.D.

(D) In 1099 A.D.

Where did Mongol lives?

(A) Central Asia

(B) Mediterranean Sea

(C) Tundra

(D) China.

118. When did the first crusade take

Which country did ‘Columbus’

belong to?
(A) Portugal
(B) France
(C) Italy

(D) Germany.

P.T.O,



121 T wemw w1 M wa | 121, When was Hindu Mahasabh,

w7 formed?

(A) 1915 3. & (A) In 1915 A.D.
(B) 1951 € H (B) In 1951 A.D.
C) 1885 ¥ 7 (C) In 1885 A.D.

(D) 1980 ¥, « (D) In 1980 A.D.

122. Wom Hm gAEl F wafaw @ | 122, What was the age of Voting

g formt off? rights in the First General
Election?

- (A) 18 =d
(A) 18 years

(B) 17 Td
(B) 17 years

(C) 21 ¥4 ©) 21 years

(D) 20 =9 (D) 20 yoars.

¥

123, fa¥em @ 989 «WRa 1 fF9 W 123. By what name was India known

1 v S | before partition?
(A) fegwm (A) Hindustan
(B) &TXd | (B) Bharat

(C) fafewr 3frean (C) British India
(D) T8 | wrE TRl (D) None of these,

N-2415-Series-B | (38)



124

N-2415-Series-B

i H TR e w
WA W @7

(A) 20 HMWIET =Y
(B) 22 wmoisti =)
(C) 24 o3y a;]
(D) 26 Wl =i

‘g femrall offw sfea” qmw 3
AEE B 872

(A) ot =Te FEIgy e

(B) =i @idt. =m

(C) & THEFEwT

(D) 4. SEEEE AEsl

(A) 1951 % H
(B) 1950 5. H
(C) 1852 % H

(D) 1953 % HI

124,

125.

126.

(39)

How many Languages have
Constitutional recognition in
India?

(A) 20 Languages

(B) 22 Languages

(C) 24 Languages

(D) 26 Languages.

Who is the author of the Book

“The Discovery of India™

(A) Sh. Lal Bahadur Shastri
(B) Dr. V.P. Verma

(C) Dr. Radhakrishnan

(D) Pt. Jawaharlal Nehru.

When was the First Five Year

Plan implemented in India?
(A) In 1951 AD.
(B) In 1950 A.D.
(©) In 1852 A.D.

(D) In 1953 A.D.

20



127 fEw at ek s e
o2
(A) 11967 | 197
(B) 99 1967 4 1973
(C) ¥ 1965 B 1967
D) ¥ 1967 & 1969,
128. wRa wf g SER
oft?
() sieifi &
(B) TeTHT &=
(C) Wi &
(D) EEETI.&HF
129. wrdm fjw At & % @5
o7
(A) 4. SR Tew
(B) “bret gfga wiwd
(C) 4 wewm A
(D) i eree fagrl amrddt
N-2415-Series-B (40)

197, In which year was there a Seve |

128.

129.

i_

Famine in India?
(A) From 1967 to 1971
(B) From 1967 to 1973

(C) From 1965 to 1967

(D) From 1067 to 1969.

In which feld did the Green

Revolution take place?

(A) In the industrial sector
(B) In the technical field
(C_‘i. Transformation zone

(D) Agricultural field.

Who was the father of Indian

Foreign Policy?

(A) Pandit Jawaharlal Nehry
(B) Smt. Indira Gandhi

(C) Sh.'Mahatmn Gandhi

(D) Sh. Atal Biharj Vajpayee.

e a1




130. WA Te-fRdy woyem W o

131.

N-2415.Series-B

o2

(A) wee o
(B) 1§ feoeht ®
C) ¥w ¥

D) STw § | #E =)

fomen Togien w9 Tenew el
™ #?

AR 1971

T 1972

g 1973

M 1974,

(A) 2
(B) 2
(C) 2

(D) 2

IR H < 4S5 $ UhT & fou
gfaym A wHA-w waeE fwm T
o7 i

(A) 42 =1 |YNHA

ar wInYA

T gy

D) 72 a1 gl

(B) 44

(C) 52

130,

131.

132.

(41)

Where was the First Non-Aligned

Conference held?
(A) .Be]grude

(B) New Delhi
(C) Russia

;D} Nonce of the above.

When was the Shimla Agreement

signed?

(A) 2 July 1971

(B) 2 July 1972
(C) 2 July 1973
(D) 2 July 1974.
first

amendment was

Which

made to the constitution to

prevent defection in India?
(A) 42nd Amendment
(B) 44th Amendment
(C) 52nd ﬂmen.tlment

(D) 72nd Amendment,

P.T.0.



133 4Iv T gauifys g 9 uifm | 133. When was the 42nq

constitutional amendmep,
i passed?
(A) 1971 & (A)'1971 AD.
(B) 1976 %. . (B) 1976 AD.
(C) 1978 % (C) 1978 A.D.

(D) 1980 %. (D) 1980 A.D.

134. HOI % YR YT YA T ’ﬂﬁq 134. When was the first state of India

TF Fa T4 T A ' ' formed on the basis of language?
(A) 1953 3. . (A) In 1953 A.D.

B) 1954 %  (B) In 1954 AD.

(C) 1955 <.

(C) In 1955 A.D,

(D) 1956 3. (D) In 1956 A.D.

135. ‘Tau=i e’ fog g 9 g3iq 135. ‘Chipko Movement’ is related to

™

35 which state?

(A) T T (A) Punjab

(B) TTUEE (B) Uttarakhand
(C) frem & . (C) Bihar

(D) ToRE o (D) Gujarat,

N-2415-Series-B (42)



1 36.

137.

138.

N-2415-Series-B .o,

aﬁ Fﬁ" i Hfeensl w1 g
B2

(A) & 2002 o

(B) €1 2003 o !

(C) &9 2004 |

(D) & 2005 HI

uRg W whed w4 Aeen fkaw

HATET é?
(A) 1 Ei‘rlﬁ'fr
(B) 26"51713'{:[
(C) 22 HH,

(D) § T

qeT W TSR [ af gl
o1?

(A) 1975 3.

(B) 1977 %

(C) 1980 %.

(D) 1982 3!

136.

137.

138.

iqa}

In which year was the prptection

of Women from Domestic vinlence

Act passed?
(A) In the year 2002

(B) In the year 2003

*(C) In the year 2004

(D) In the year 2005. -

When is Women’s Day celebrated
Every Year in India?

(A) 1st January:.

(B) 26th January

(C) 22nd March

(D) 8th March.

In which.’ year iwas BJP

formed?

(A) 1975 A.D.

' (B) 1977 A.D.

(C) 1980'A.D.

(D) 1982 A.D.

RO,



139. “Smm oww o wE U

el yE & e?
(A) femmeer W=
(B) WS

(C) i

(D) I T&YI

140. MW HIE Fq g ul?

(A) 1999 3. &
(B) 2005 % o

(C) 2002 3. &

(D) 1990 2. =)

14l.mﬁﬁwmaﬁ§s’

i

(A) F7 1949
(B) ®1 1950
(C) 57 1959
D) 77 1940,

N-24 15-Series.B

1

Eal

mﬁrﬁ-{ 139.

140.

141,

(44)

Where did the Politjeg £
0p «

L1

Ram Gaya Ram” starg) G
(A) Himachal Pradesh

(B) Punjab

(C) Haryana

(D) Uttar Pradesh

When did the Godhra Incidey;
happen?

(A) In 1999 A.D.
(B) In 2005 A.D.
(C) In 2002 AD.

(D) In 1990 A.D.

In  which year was NATO

established?

{A_} 1949 A D.
(B) 1950 A.D.
(C) 1959 A.D.

(D) 1960 A.D.
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(A)

(B)

(C) 1920
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1991 & o
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1908 4. HI

1914 <.

1917 3.
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D) 1931 %.
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Between which two countrices did

the cold war take place?
(A) India-Pakistan

(B) India-China

(C) America-Soviet Union

(D) America-Japan.

When did the Soviet Union

disintegrate?

(A) In 1985 A.D.

(B) In 1991 A.D.

(C) In 1995 A.D.

(D) In 1998 A.D.

In which year did the Communist

revolution take place in Russia?
(A) 1914 AD.

(B) 1917 A.D.

(C) 1920 A.D.

(D) 1931 A.D.

P.T.O.



145, aifemr @4 uF Y AN? 145. When did Americy bi
¢
| country? ’ ome
(A) 1770 §. W
(A) In 1770 A.D.
B "
(B) 1776 % ¥ (B) In 1776 A.D,
(C) 1789 4. o (C) In 1789 A.D.
D) 1792 §. & (D) In 1792 A.D,
146. ‘w3 g fEw & W wer | 146. Which was is called ‘Compute,
S 82 war’? |
| ¢ (A) vum @Et gg W (A) Tirst Gulf war
(B) fgim @rst T35 & - (B) Second Gulf war
(C) TWF 43 Fi (C) To Iraq war
(D) IHMH & i (D) Afghan war.
147. = Hal 41 2? 147. * What is the currency of China |
(A) g3 _ (A) Yuan
(B) 94 (B) Rupee
(C) efert " (C) Dollar
(D) <& (D) Taka.
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(A) T 1964 !
(B) & 1962 #
(C) &1 1965 H

(D) §1 1966 HI

Farsty e wel e
27

(A) “Id

(B) Wid
(C) Feds

(D) SIar|

fgm § wifa wefm W @ fag
vee fqdwa ware e fwar T
17

(A) 1914 & W
B) 1916 % ®
©) 1918 & '

D) 1920 % HI
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150.

When did the first War between

India and Pakistan tuke place?
(A) In the year 1964
(B) In the year 1962
(C) In the year 1965

(D) In the year 1966,

Where is the International court

of Justice located?
(A) India

(B) France

(C) Netherland

(D) Japan.

When was the First International
offort to established peace in the
World?

(A) In 1914 A.D.
(B) In 1916 A.D.
[CJ 1!1 15]3 :\.D.

(D) In 1920 AD.

P.T.0.



